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141-N

B. Sc. (Part II) EXAMINATION, 2019
(New Course)
CHEMISTRY
Paper Second
(Organic Chemistry)

Time : Three Hours )
Al i el |} Fréurer yet @ o At

Attempt questiogs from all Sections as directed.

fdw: smdl yoat & o FaER o) ot Rl v
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W | http://www.upadda.com

The candidates are. E_:aquired to answer only in
serial order. If there are many parts of a question,
answer them in continuation.

gJUe—H
(Section—A)
Y I W
(Short Answer TyYpe Questions)

A . 7 v ofrard 31 TS W 3 ofwt @1 8

(p.,..ﬁ; P.T.0.
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(2] 141-N

All questions are compulsory. Each question carrics
3 marks.

1. (A) F=fafea & g 4 a2

() Poeria & 2-amirvit
(i) BT @ Rrfremita 3
How will you convert the following ?
(i) Glycerol into 2-lodopropane
(ii) Phenol into paracetamol
() ETRWHS R
(i) T R
Define the following : ~
{1) Hyperchromic shift
(ii) Blue shift
(G~ TR T H -
() W, Ye-TERETe @ sl
aferw aneirg 81
(i) fdvaa oim, s Tl @ afte arda &)
Explain with reason':
(i) p-nitrophenol is more acidic than m-
nitrophenol.

(ii) Secondary amine is more basic than primary
amine,

(A-22) .
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(D) Frafafaa W feufinf fafg -
() e fafa

(i) WEwEs 1 we-sdfe ww god @

furfafa

Write notes on the following :
(i) Zcisel's method
(ii)) Mechanism of acid-catalysed ring opening in
epoxide
(E) frm afvfism = ey fafag
Write the mechanism of Cannizzaro reaction.
(F) Prefafae o it feaforg forfam -
(i) T=w-frrr amTE
@iy fafem s )
Write short notes on the following
(i) Wolf-Kishner reduction
(ii) Wittig reaction  http://csymuonline.com
q5—d
(Section—B)
& 9vd nvr
(Long Answer Type Questions)
Az : Rl 2wt @ TR DRI T T 8 st @ B

" Attempt any rwo questions. Each question carries
8 marks.

N\

é’,..(-'ﬂ} frafafea & TUPAC - faf

(i) HCOOH

MP.T.aA .

http://esymuonline.com

wod-auljuonwso; dny

wod-auruonuilsa; 1dny

http://fesimuonline.com

[4) 141-N
(i) CH;OCH,CH,CH,

(iii) CHHOHCHOHCH,0H
(iv) CH,COCI

[a) Write the IUPAC name of the following :
(i) HCOOH http://www.upadda.com
(ii) CHOCH.CH.CH,
(iii) CH;OHCHOHCH,0H
(iv) CH,COCI

® v s A PRy fifag

Write the mechanism of Aldol condensation.
Frefafea divat @ are 39 ofeffa 60t 2
() R e B erfeese ¥
(ii) Faeia o aRe T A
How will you convert the following ?

(i) Ethylene glycol into formaldehyde

(i) Glycerol into citric acid

frfafas @ s dfag -

() wufs, e @ gdee T § Reey ww
fafer & fnte Aoy

(i) PHER AR ifFaPW § =R fEfEe |

(A-22)}
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write answer of the following

(i) Distinguish primary, secondary and tertiary
alcohol by Victor Meyer's method.

(ii) Differences  between  Chromophore  and
Auxochrome.

5. Prefafen @ R qagd . http://csjmuonline.com
() CEPER W WIS T IR B TR ¥ Ifw
grer B
(i) ceEle # aFl W e e @ ol B 3
Give reason of the following:

(i) Boiling point of alcohols are higher than
corresponding ether.

(i) Alcohols are more walte soluble than afkane. ”
Tra—t
"(Section—C)
et weria v
(Long Answer Type Questions)
e Rl 2wl @ SR DR S T 8 I W

Attempt any rwo questions. Each question carries
8 marks.

. Frforfan w @t foufiml faftag -
() & & Pam
(i) WIOR GG
(iii) FE
(iv) TRISW

r22)P.T.O.
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Write bricf notes on the following :
(i} Hooke's law
(ii) Molar absorptivity
(iii) Dehydeation
{iv) Esterification
g ettt affrmad & fraffi falta -
= )
() wF FaE
(i) @ gl hitp://csjmuonline.com
Write the mechanism of the following reactions :
(i) Perkin condensation
(ii) Claisen rearrangement
g Prefufua @ sw fofeg
@) TR B ge A S R
(i) Frreem AfAfEm 7 frafaf
Write answer of the following :
(i) Separation of amines by Hoffmann’s method
(ii) Mechanism of carbylamine reaction
0. @ WHRE WAE (A) CHON JTT T W WD
~ (B}cTﬁmém$1(B)$mmaﬂﬁﬂmm
CuCN/KCN ¥ Bt 301 T (C) CoHN TCH )P
e Rew ¥ 7 THe TN dedem w1 ® A
(mmmm@mwﬂmm(mmww-
ofrenT SR T 21 (A), (B), () T (0) W W
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An aromatic compound (A) CH,0,N on reduction

gives compound (B) C:HsN. (B) o diazotisation and
on treatment with CuUCN/KCN produced (C) CyHoN.
(C) on hydrolysis and then oxidation gives compound
(D), which equivalent weightis 83 (D) gives only one
monosubstituted product. Write siructure of (A), (B),
(C) and (D).
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